EARAROBEEIERT — 2 N— IBISH —F

20165F4H108 (B) 1E1AE4H

I 3m— 448 Yo% 3% ‘ (%] & ‘ [eErE] - | 4 (&) 14000
[AE4£] 1% :170,000 @ ~ 23#&:39,000 ™  33%&:1500 M  437%&:9,000H ~ 53%:5,000 M
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= H il :31. -2~ . — ABRBK (EB)
1 REESTTIA 3 o 1(3_1)4 2-2-2-2 | 39.1 1 (4;4) LRt 8
L:aArFaAy b BiSTrU—TYv Y AREG1—Tr—L
N RN 3 | WEO#E 1:31. 1-1-1-1 4| - 2 AB®Y (58)
2011 |ZWMRTLv—=7 e 54.0 (31)6 % (ﬁj) #) 7“)»7% KT
R:NTd BV HFLTUS v R H TS
i it 3 | RERZ 1:33.6 3-3-3-3 | 40.8| — 5 375 | HllEE (£8)
37171 77Y3 54.0 (21 %) (-5) | BHEH
L:O—-Y X144 B:NnLsrvr =]
S s : 55— — I (E8)
A - BERZEREE i 3 e 1.(344).3 5-5-5-6 | 39.8 7 (4_277) pEie
R:hrN=Z— BnFIAAILY Fxap e
: A i 3 | BEER—E 1:34.4 7-7-6-5 | 39.1| — 3 426 | REAE (£R)
5|55 rKAE—=>AH7IL 54.0 (2 E) (-q) | £HBAER B
L:TA=—T4FAF=—H> B:HLF—2yF TR BR
S FHAFIK :35. ~4-4~ . - hEHE (EE)
N > DN I 6.0 1(33?)0 MR ¢ f; /NN .
R:A—I>TU> BiFHFHIT AT HS
— e AL .37, —6-7- . — REEHEE (£5)
7 &Y 3 Frlravy "3 gé% (;?;*7;) M R ® (4:371) %;ﬁﬂ\ .
RV THTo94> K By o7y 7 Y v A FiE
@ 1 — S —EBIEf
13=7r= 1,4,7,2,6,3,5
2a|=7r= 1,4,7,2,6,3,5
Jol=5r= 1,4,7,2,6,5,3
40—+ — 1,4,7,2,5,6,3
[ N3
BB 4 1504 714K 1-4 110H B = 1-4 140H 3EHE 1-4-7 270M
8 B 4 1004 4-7 160M B H 4-1 220M K31 4-1-7 460M
1 150/ 1-7 220M

ABICOVWTRDTEEERROODE. TR LIV,




